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SENIOR SECONDARY EXAMINATION, 2010
Jehfeueh ot 1 9 II — whell & faam &t
( OPTIONAL GROUPS I & II — HUMANITIES AND SCIENCE )
e — fgdtg o
( MATHEMATICS — Second Paper )
Hy 3% qUe
tg\mfaa : 60

dterTfelEt o ferg ey e :
GENERAL INSTRUCTIONS FOR EXAMINEES :
1.  gaemel gayed 91 9 93 W A ifardd; fag |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T T o o<t 9 S ®u=R # fRdlt g &t e / = / foienwmg
TN W fE=d v &% uvd 1wl we |

If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.

3. | Y w0 fad € | 99 wHie 239 24 H <R fahed © |

All questions are compulsory. Question Nos. 23 and 24 have
internal choice.

4. Y HATR 28 7% A AERIHS T E |

Question Nos. 2 to 7 are Very Short Answer type.
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5. Hodeh U 1 ST & T8 ST-Y&den | g1 ford |

Write the answer of each question in answer-book only.

6. T o9 & ws ¥ Ifysw gum si arel 9 €, 39 9t 9 &1 7 U A
qaq fad |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in continuity.

7. U HHIH 8 HT A@ITS UMH-UR W FA13T |

Graph for Question No. 8 should be drawn on the graph paper.

8. STl IW-YRa! & =i o Tl IR fafay | afc &I T wE & 81,
T-gfeent & sifam gl W Y R 3R fst ol @ Feady 39 W
‘T wE faE T
Write on both sides of the pages of your answer-book. If any rough
work is to be done, do it on last pages of the answer-book and
cross with slant lines and write ‘Rough Work’ on them.

9. T HHH 1H IR WM (i, ii, iii T iv ) T | TR WFT & SR & AR
faweq (&, @, TUd T) T | &I fomey &1 TR IW-Yfaaawr o
T=TgER drferert s ford .

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

9T R 3T ohT WEl faehed
Question No. Correct letter of the
Answer

1. (@)

1. (i)

1. (iii)

1. (iv)
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1. () v foed e f(x)=x3 —38x2 —24x + 59¥AA §, §

(F) (-2, ) =) (-2.4)

(M (-, -2)U (4, ») () (-, 4).

Interval in which function f ( x ) = x3 - 3x2 — 24x + 5 is
increasing, is

(A) (=2,00) (B) (-2,4)

(C) (-o,-2)U (4, %) (D) (-, 4). 5

(il) IS T T@1 § THA Tk R0 1 99T H =l T8 g x, GHIRT0
x=2t2 —5t+ 19T I R, N H H 5 HHUS G AR
(&) 15 (@) 20
() 25 (&)  26.
If distance x travelled by the particle in time t in a straight line is
given by the equation x = 2t2 — 5t + 1, then velocity of the
particle after 5 seconds is

(A) 15 (B) 20
(C) 25 (D)  26. 5
i) J e®%e® ax w1 EE R
x2
(F) x* +c¢ (@) =5 +c
2
1
(M —3)5 +c (& gz x*+c.
The value of f eSlogex dx is
x2
A) x?* +c (B) =5 +c
3x 2 1
(&) )5 +cC D) 7 x* +c. 5
(iv) f\/(1+cos2x) deh"[II'FI%
(F) VY2 cos x +c (@) 42 sinx+c
() 2cosx+c (9) 2sinx+c.
The value of f NV (1 +cos2x) dxis
(A) \/§ cosS X + ¢ (B) \/§ sin x + ¢
(C) 2cosx+c (D) 2sinx+c. %
SS—15-2—Maths. 11 [ Turn over

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

4
cosx , x=0
2. A;C f(x)= :
x+k , x<O
3R Lim f(x) &1 AR €, @ kT AE F1T HifSC |
X
cosx , x=0
If f(x)= ,
x+k , x<0O
and Lémo f(x) exists, then find the value of k. 1
X

3. ﬂﬂﬁﬁaﬂﬁ‘q:x%mw <1 +%>x )

a X
Evaluate : Lim < 1+ —> . 1

x@ o X

3/2 3/2
4, A A AT pgm 2D la+2)77
x3 a X—a

(x+2)32-(a+2)%2

Evaluate : xLéma x—a . 1

5. mamaﬂﬁm:f

(ex—e-x)*"

o dx 1
(ex—e-x)*"

6. T Fd SIfST : f\/(ex—l) dx.

Evaluate : f\/(e"—l) dx. 1
7. W y? = 4x AU THk AT g UG & 1 &AHel J1d IS |

Find the area bounded by the parabola y ? = 4x and its latus rectum.

Evaluate : J

1
8. = wer =1 emd Wifey :
flx)=|x-2|+|x-3]|, xO[-4, 41
Draw the graph of the following function :
flx)=]|x-2|+|x-3]|, xO[-4, 41 2
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x2-2x-3

x+ 1 pox=—1

9. ARHE f(x) =
A ;o x=-1
fog x =— 1 WHdd & @ A T AH F1d HIfoC |

x2-2x-3

;o x=z2-—1
If the function f(x) = x+1
A ;o x=-1
is continuous at point x = — 1 then find the value of A. 2

10. 91 we &1 fag x = 0 W STahartaal i Si= SIS

1
xtan‘1<;>; x=0
J(x) =) .
0] ; x=0
Test the differentiability of the following function at point x =0 :
( 1
xtan‘1<;>; x=0

f(lx) =) . 2
0] ; x=0

11. Wﬁ‘{siny: xsin(a+y),ﬁmaﬂﬁqﬁ
dy sin?(a+y)

dx ~ sin a

If siny= xsin(a+y), then prove that

dy _sin’(a+y) )
dx ~ sin a :
2 d?
12. A y= log, (secx.ex”) a‘rdxg 1 T I FITC |
2 d?y
If y= loge(secx.e" ) then find the value of ax2 2
13. HM A SHIfST ;
. l[ il 2 ]
nLémoo pltanzo+tan z0+ ...+ 1 | .
Evaluate :
. l[ il 2 ] 9
nLémoo pltanzo+tanzo+ ...+ 1 | .
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2
14. STa%hd GHIHI Ccllxé" = sin? x+xe* W& TA RN |

Solve the differential equation

2
céx‘g = sin 2

15. fog #ifse fe war Y@ 2 + ¢ = 1,95 y = be @ 1 38 fag W T FH
? Vel @k y AT R AT T |

xX+xe* . 2

y

X
X ES
Prove that the straight line  + 7 = 1 touches the curve y = be ¢

at the point where the curve cuts the y-axis. 3
16. ®ad f(x) = eX sinx, x[J[0, 7] % T T THI T TATA HifQ |
Verify Rolle’s theorem for the function :
f(x) =e* sinx, x{O[O, w1 3
17. %dd f(x) =sin x + cos x aﬂaqfwnﬂamaﬂﬁq |
Find the maximum value of the function

S (x) =sin x + cos x. 3

18. M 1A HIfVT :
log , x
(1+logex)2
Evaluate :
log , x
7 dx. 3
(1+log, x)

x2+1
19. WRFE@AE : | g dx.

x2+1
x*+1

Evaluate : f dx. 3

20. WA y? = 16x T G @1 y = x R IRTG &3 T 4GB J1d HISC |

Find the area bounded by the parabola y? = 16x and the straight line
Yy = x. 3
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21. WF‘TEHT‘[EF' S
f\/secx—l dx.
Evaluate :
f\/secx—l dx. 5
m
A X
22. HTE ’ f acos?x+b?sin?x
0
m
Evaluat f X 5
valuate acos?x+b?sin?x

0
23. UgH F9G ¥ x 2 cos x T x & UL TGk Uk T HITST |
3teran
o fHgid ¥ xe* T x & AU 3Tkl U JTd HIFT |

Find the differential coefficient of x 2 cos x with respect to x from first

principle.

OR
Find the differential coefficient of xe* with respect to x from first
principle. 5

24. T g THIHTU 1 A HIGT ;
(1+y?2) +(x—etan_ly) % = 0.

3T
=1 T GHIHIOT i A HIfWT ;

dy
3x*g¢ = 3xy+y?.
Solve the following differential equation :

(1+y?2) +(x—etan_ly) v 0.

dx
OR
Solve the following differential equation :
dy
3x%*g = 3xy+y?. 5
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